Option # SSG-MT
Stainless Steel Gear Option, Manual Tilt

MORSE; ¥/
P AV

The Specialist In Drum Handling Equipment

Morse Option # SSG-MT Stainless Steel Gear Option used on
¢ 500 Series Manual Tilt Vertical-Lift Drum Pourers
Serial Number 000000 to 279976
* 400 Series Manual Tilt Hydra-Lift Karriers
Serial Number 1210 to 0915 (MMYY)

Option # SSG-MT
Stainless Steel Gears, Manual Tilt Parts Standard on Al Stainless Steel Manual Tilt 400 Series

" PART#  DESCRIPTION | ITEM  QTY. PART # DESCRIPTION

56* 1 64SS-P ROLL PIN, 3/16 X 1-1/4, SS

62* 1 5863-P GEAR, PINION, 7 TOOTH, SS 57" 2 19-P HHCS, 3/8-16 X 1-1/4, S8

63* 1 138S-P SPROCKET #35 36T, 3/4” BORE SS 58 2 5358S-P | HHCS, 3/8-16 X 1-1/4, SS

oar y 12S5-P CHAIN. ROLLER, #35 SS 59 2 1474SS-P | WASHER, 3/8 SPLIT LOCK, SS

66 1 79555-P | LINK, MASTER. #35 CHAIN SS 60" 1 3849BSS-P | BEARING ASM, SLIDING IDLER, SS

67" 1 3755-P SS SHAFT W/ SS 12T SPROCKET 61 1 5588-P WASHER, 3/4 SAE FL 1-1/2 0D 88

69 4 193.p SCREW, TEK, 12-14 X 3/4 3 PT 65" 1 735SS-P | KEY, WOODRUFF, SIZE 9, T304SS

70 1| 10s0ssp | KIT, sQ COVER, SS, 400 MT A ! 19SSP | COLLAR 34'ID.SS

79 2 23858S-P | HHCS, 5/16-24 X 1/2, SS Z ! 18P R iNC N Dl

73* 1 7-P BEARING, 3/4” ID X 1-1/2"
400 Series Hydra-Lift Karrier 74 1 16SS-P COLLAR, 171D, SS
Overhead Assembly shown for illustration purposes 75 1 4235-P CAP, PLASTIC, DRIVE SHAFT

Parts Standard on All Stainless Steel Manual Tilt 400 Series I i ey | S, RO e LA il 32
"ITEM | QTY. | PART# | DESCRIPTION | 77" 1 13038S-P | POCKET CHAIN WHEEL SILVER PC

50 1 5000SS-P | SADDLE ASM, MORCINCH, MOR, SS 78* 1 3-185-P g;ﬁ::é dF;llJSL)L’ POCKET 12'LENGTH

51 2 3981SS-P | NUT, 3/8-16 NYLON LOCK, SS . 1 o CHAIN, PULL, POCKET, 7’ LENGTH

52 1 4473SS-P | SPACER, SPUR GEAR, MOR, SS (72" models)

54 1 29Ss-P SPACER, SPUR GEAR .15", SS 80 1 5269-P ROLL PIN, 3/16 X 1-3/4

55 2 4370-P SHCS, 3/8-16 X 1-3/8 * Recommended spare parts

morsedrum.com
Copyright 2022 - Morse Mfg. Co., Inc. Form PLSSG-MT (0615-0915) (Updated 01 Apr, 2022) 1



